< & ¢@>(rad)

o

-

[¢)]
IIIIIIIIII
< dcot(6) >

o

-

[¢)]
IIIIIIIIII

—0.45fF -+ FH o {14 LB oo I <{=CTRROR SO EERE 1B CRE F F.E S EURR RRRR

|
o

Ratio

| | 1k : l

: N 4 i 11 : LI
1 2 3 = -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

H
wIIIIIIIIIIIIII LU
-
-
:
-
=
"
-
X
-
¥
o N
3
+
>
5%
:
5
%

w
|
N

OO0

H-18388¥1- 50000t

[y
o

N

EE : 5 EE 5 : ; :
2 gop-- : - 2 g0 AR R it e R
A E E : N E E : E
& o0 ! (/. b SN T
© a0F- ; e v 4o IR [ R T E R
\ 3 . : . 3 . 3 B :
20F--{[f 3 it 20F iRl R R B R S
ol B 4 oI -
~a0f----{if Il —20F AR RCHR L3 10
C 1 n r b . : I
~40F---- B ~40F AR AR R
—60F---- -1 -HHATH - -60F B -
A1 AN A IR0 1 IV
2 1_ 3 | . g HL 1 | .
1'— lee- <+ b b | q
o - : :

w
N

3 -2 -1 0 1 2 3 g 10 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

< opJp, > (%)

Ratio
N
T

0 ] 1 :|? : :
-3 -2 -1 0 1 2 3
TP n (PCA to beamline)




	Contents
	Page 1


